

Evaluating Functions from an Equation

$f(x) = x^2 + 3$
$g(x) = x + 1$
$h(x) = 2$

$f(3) =$

$g(3) =$

$h(3) =$

$f(-2) =$

$g(0) =$

$h(-5) =$

$f(2) + g(1) =$

$g(-1) + h(-1) =$

$f(g(2)) =$

$g(f(0)) =$

$f(g(h(1))) =$

$f(y) =$

$g(w) =$

$h(z) =$

Evaluating Functions from an Equation

$f(x) = x^2 + 3$
$g(x) = x + 1$
$h(x) = 2$

$f(3) =$

$g(3) =$

$h(3) =$

$f(-2) =$

$g(0) =$

$h(-5) =$

$f(2) + g(1) =$

$g(-1) + h(-1) =$

$f(g(2)) =$

$g(f(0)) =$

$f(g(h(1))) =$

$f(y) =$

$g(w) =$

$h(z) =$